Entry 2: Count up to 100 in twos

1. How many socks are there?
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Answer: .

2. A teacher has put tables together like in the picture. In
each table can sit two learners.

How many learners can sit in all tables?
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3. Continue this number pattern.

52, 54, 56, ..., 60,.....,....., 66

4. Fill in the blank spaces in the pattern below.

..... y ey 34, 36, 38, 40

5. A number patter starts like this:

And goes up to 31. Would the number 21 be in this
pattern?
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6.Suki completes a number pattern, like below. Is
she right?

43, 45, 46,48
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